

Contract ID Estimate Number		Pay Period Start	Pay Period End	Created Date	Estimate Type
190215-G06	0003	September 16, 2019	September 30, 2019	October 1, 2019	Progress

Prepared For:

D & E Plumbing and Heating, Inc. 1112 N Falcon Crest Court Nixa, MO 65714 (417)725-5300FAX

Prepared By:

Joplin Project Office 2915 S Doughboy Dr Joplin, MO 64804

	Contract Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Lo	cation of Work					
J7S3164	FAS S601(66)	ADA improvements		JASPER	from 10th St. in Webb City to north of I-44 in Joplin						

Original Contra Amount	•		Current Contract Amount	% of Current Contract Amount Complete	Original Completion Date	Current Completion Date	Actual Completion Date
\$1,701,61	8.30		\$1,701,618.30	7.63%	May 24, 2020	May 24, 2020	
	Storm Water Ir	formation					
Project Number	Authorized Acres	Open Acres	Disturbed Acres				
J7S3164							

Contract Total Pay Fo	or Estimate No. 003					
		To Date	Previous		This	Estimate
190215-G06						
	Total Earnings	\$129,913.65	\$52,129.35		\$77,	,784.30
	Total Adjustments	\$0.00	\$0.00		\$0.0	0
		\$188,755.95	\$110,971.65			
				Contract Total Paya	ble This Estimate:	\$77,784.30

Approval Date		By User
October 3, 2019	Generated and Approved (and should be considered Draft) at the Project Office Level by	edelhb1
October 3, 2019	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	morrim
October 4, 2019	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1



Contra	ct ID Estimate Num	ber Pay Period Start	Pay Period End	Created Date	Estimate Type		
90215-G06	0003	September 16, 2019	September 30, 2019	October 1, 2019	Progress		
otals by Jo	b Numbers						
J7S3164		To Date	Previous		Estimate		
	Participating Non-Participating	\$129,913.65 \$0.00	\$52,129.35 \$0.00	\$52,129.35 \$77,784. \$0.00 \$0.00			
	Total Earnin	gs \$188,755.95	\$188,755.95 \$110,971.65				
	Stockpiled Materials	\$0.00					
	*Stockpiled Materials are include *Line Item Adjustments*	ed in the Participating or Non-Participating amo \$0.00	sipating amounts* \$0.00 \$0.00				
		ided in the Participating or Non-Participating a		φ0.0	•		
	Contract Adjustments	\$0.00	\$0.00	\$0.0			
	Incentive Disincentive	\$0.00 \$0.00	\$0.00 \$0.00	\$0.0 \$0.0			
	Liquidated Damages	\$0.00	\$0.00	\$0.0			
	Overrun Adjustments	\$0.00	\$0.00	\$0.0	\$0.00		
	Tota	ls: \$188,755.95	\$110,971.65				
			Project T	otal Payable This Estimate:	\$77,784.		

Contract Adjustment

No Data Available

Line Item Adjustment

No Data Available

Exceptions (Discrepancies) This Estimate Period

No Data Available

Items Paid This Estimate Period

Project No.	Line No.	ltem Code	Description	Unit Price	Unit	Quantity Overrun Adjustment	Previous Total Paid Quantity	Current Quantity (This Estimate)	Quantity to Date	Amount This Estimate
J7S3164	0010	2022010		\$230,000.00	LS	0.00	0.10	0.00	0.10	\$0.00
	0020	2071000		\$1,000.00	STA	0.00	0.00	2.11	2.11	\$2,109.00
	0030	2079903	MISC. LINEAR GRADING FOR ADA FACILITIES	\$2.00	LF	0.00	0.00	1,795.30	1,795.30	\$3,590.60
	0040	3040143		\$7.00	SQYD	0.00	947.05	637.90	1,584.95	\$4,465.30
	0100	6081010		\$80.00	SQYD	0.00	94.60	96.00	190.60	\$7,680.00
	0110	6081012		\$30.00	SQFT	0.00	143.00	111.00	254.00	\$3,330.00
	0120	6083008		\$72.00	SQYD	0.00	42.80	0.00	42.80	\$0.00



Con	tract ID		Estimate Number	Pay Period Sta	art	F	Pay Period End	1	Created D	ate	Estimate Ty
190215-G	06	0003	3	September 16, 2019		September	30, 2019	Oc	tober 1, 2019		Progress
ems Pa	id This	Estimate	e Period								
Project No.	Line No.	Item Code	Description	Unit Price	Unit	Quantity Overrun Adjustment	Previous Total Paid Quantity	Current Quantity (This Estimate)	Quantity to Date	Amount This Estimate	
J7S3164	0130	6085008		\$50.00	SQYD	0.00	365.20	244.10	609.30	\$12,205.00	
	0140	6086004		\$43.00	SQYD	0.00	363.90	352.80	716.70	\$15,170.40	
	0200	6161005		\$7.00	SQFT	0.00	785.00	22.00	807.00	\$154.00	
	0210	6161008		\$100.00	EA	0.00	0.00	2.00	2.00	\$200.00	
	0220	6161009		\$20.00	EA	0.00	0.00	16.00	16.00	\$320.00	
	0230	6161025		\$18.00	EA	0.00	250.00	0.00	250.00	\$0.00	
	0240	6161030		\$150.00	EA	0.00	0.00	6.00	6.00	\$900.00	
	0260	6161040		\$1,200.00	EA	0.00	0.00	2.00	2.00	\$2,400.00	
	0280	6169902	MISC. ADA COMPLIANT T MOVEABLE BARRICADE	YPE III \$120.00	EA	0.00	0.00	23.00	23.00	\$2,760.00	
	0290	6181000		\$90,000.00	LS	0.00	0.25	0.25	0.50	\$22,500.00	
							Total Amount	of Items Paid tl	nis Estimate -	\$77,784.30	

Total Paid / All Items / All Estimates

Project No.	Category	Line No.	ltem Code	Description	Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date
J7S3164	0001	0010	2022010		0.00	1	LS	0.10	\$230,000.00	\$23,000.00
	0001	0020	2071000		0.00	18.900	STA	2.11	\$1,000.00	\$2,109.00
	0001	0030	2079903	MISC. LINEAR GRADING FOR ADA FACILITIES	0.00	12880	LF	1,795.30	\$2.00	\$3,590.60
	0001	0040	3040143		0.00	15296	SQYD	1,584.95	\$7.00	\$11,094.65
	0001	0050	4011209		0.00	9.100	TONS	0.00	\$200.00	\$0.00
	0001	0060	5024010		0.00	241	SQYD	0.00	\$61.00	\$0.00



October	8.	2019
COLODOL	υ,	2010

Cor	ntract ID		Estimate I	Number	Pay Period Start	Pay	Period E	nd		Created D	ate	Estimate Ty
190215-G	606	0003	3		September 16, 2019	September 30), 2019		Octobe	er 1, 2019		Progress
otal Pa	id / All Ite	ms / A	II Estimate	<u>es</u>			-					
Project No.	Category	Line No.	Item Code		Description		Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date
J7S3164	0001	0070	6042010				0.00	11	EA	0.00	\$700.00	\$0.00
	0001	0080	6042020				0.00	1	EA	0.00	\$2,000.00	\$0.00
	0001	0090	6049904	MISC. STEE	L PLATE		0.00	54	SQFT	0.00	\$50.00	\$0.00
	0001	0100	6081010				0.00	1566.600	SQYD	190.60	\$80.00	\$15,248.00
	0001	0110	6081012				0.00	1221	SQFT	254.00	\$30.00	\$7,620.00
	0001	0120	6083008				0.00	108.300	SQYD	42.80	\$72.00	\$3,081.60
	0001	0130	6085008				0.00	7372.100	SQYD	609.30	\$50.00	\$30,465.00
	0001	0140	6086004				0.00	6116.100	SQYD	716.70	\$43.00	\$30,818.10
	0001	0150	6091010				0.00	771	LF	0.00	\$35.00	\$0.00
	0001	0160	6091011				0.00	117	LF	0.00	\$40.00	\$0.00
	0001	0170	6091052				0.00	483	LF	0.00	\$30.00	\$0.00
	0001	0180	6099903	MISC. MODI	FED TYPE A GUTTER		0.00	24	LF	0.00	\$40.00	\$0.00
	0001	0190	6123000A				0.00	4	EA	0.00	\$1,500.00	\$0.00
	0001	0200	6161005				0.00	1617	SQFT	807.00	\$7.00	\$5,649.00
	0001	0210	6161008				0.00	16	EA	2.00	\$100.00	\$200.00
	0001	0220	6161009				0.00	16	EA	16.00	\$20.00	\$320.00
	0001	0230	6161025				0.00	250	EA	250.00	\$18.00	\$4,500.00
	0001	0240	6161030				0.00	12	EA	6.00	\$150.00	\$900.00



Con	ntract ID		Estimate I	Number	Pay P	Period Start	Pa	y Period Ei	nd		Created Date		Estimate Type	
190215-G		0003			September 16,	2019	September 3	0, 2019		Octobe	er 1, 2019		Progress	
otal Pa	<u>id / All Ite</u>	<u>ems / A</u>	II Estimate	<u>es</u>										
Project No.	Category	Line No.	Item Code		Des	scription		Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date	
J7S3164	0001	0250	6161034					0.00	49	EA	0.00	\$125.00	\$0.00	
	0001	0260	6161040					0.00	4	EA	2.00	\$1,200.00	\$2,400.00	
	0001	0270	6161099					0.00	6	EA	0.00	\$4,250.00	\$0.00	
	0001	0280	6169902	MISC. ADA CO	MPLIANT TYPE	III MOVEABLE BARF	RICADE	0.00	25	EA	23.00	\$120.00	\$2,760.00	
	0001	0290	6181000					0.00	1	LS	0.50	\$90,000.00	\$45,000.00	
	0001	0300	6200009					0.00	1935	LF	0.00	\$5.00	\$0.00	
	0001	0310	6200015					0.00	33	LF	0.00	\$40.00	\$0.00	
	0001	0320	6200042					0.00	59	EA	0.00	\$25.00	\$0.00	
	0001	0330	6207001					0.00	33	LF	0.00	\$40.00	\$0.00	
	0001	0340	6209903		WHITE STANDAR NT, TYPE P BEA	RD WATERBORNE P. DS"	AVEMENT	0.00	325	LF	0.00	\$10.00	\$0.00	
	0001	0350	6274000					0.00	1	LS	0.00	\$15,000.00	\$0.00	
	0001	0360	8031000A					0.00	6853	SQYD	0.00	\$5.00	\$0.00	1
	0001	0370	8061006					0.00	308	LF	0.00	\$7.50	\$0.00	
	0001	0380	8061007A					0.00	91	EA	0.00	\$125.00	\$0.00	1
	0001	0390	8061016					0.00	166	CUYD	0.00	\$10.00	\$0.00	
	0001	0400	8061017					0.00	1.400	ACRE	0.00	\$1,000.00	\$0.00	
	0001	0410	8061019					0.00	1920	LF	0.00	\$3.00	\$0.00	
	0030	0420	9020811					0.00	52	EA	0.00	\$585.00	\$0.00	



October	8	2019
OCIODEI	Ο,	2019

Cor	ntract ID		Estimate N	Number	Pa	/ Period Start		Pay Period E	nd		Created D	ate	Estimate	Туре
190215-G	606	000	3		September 1	6, 2019	September	30, 2019		Octobe	er 1, 2019		Progress	
otal Pa	id / All Ite	ems / A	II Estimate	<u>)S</u>										
Project No.	Category	Line No.	Item Code		[Description		Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date	
J7S3164	0030	0430	9020833					0.00	60	SQFT	0.00	\$28.00	\$0.00	
	0030	0440	9020834					0.00	60	EA	0.00	\$50.50	\$0.00	
	0030	0450	9022708					0.00	10	EA	0.00	\$1,450.00	\$0.00	
	0030	0460	9025300					0.00	294	LF	0.00	\$15.50	\$0.00	
	0030	0470	9027300					0.00	106	LF	0.00	\$26.50	\$0.00	
	0030	0480	9028308					0.00	3370	LF	0.00	\$1.55	\$0.00	
	0030	0490	9028310					0.00	2280	LF	0.00	\$1.65	\$0.00	
	0030	0500	9028811					0.00	7	EA	0.00	\$1,050.00	\$0.00	
	0030	0510	9029100					0.00	5.600	CUYD	0.00	\$1,125.00	\$0.00	
	0030	0520	9029902	MISC. AUD	BLE PEDESTRIA	N PUSHBUTTON	AND SIGNING	0.00	60	EA	0.00	\$1,125.00	\$0.00	
	0030	0530	9029902	MISC. PEDI ADAPTIVE		CEPT MODULE FO	R TRAFFIC	0.00	3	EA	0.00	\$10,750.00	\$0.00	
	0030	0540	9029902	MISC. PUSI	HBUTTON EXTE	NSION		0.00	32	EA	0.00	\$145.00	\$0.00	
	0030	0550	9029902	MISC. REM	OTE PUSHBUTT	ON POST		0.00	11	EA	0.00	\$750.00	\$0.00	
	0040	0560	9031010					0.00	1.400	CUYD	0.00	\$1,734.00	\$0.00	
	0040	0570	9031270A					0.00	116	LF	0.00	\$11.15	\$0.00	
	0040	0580	9031273					0.00	33	LF	0.00	\$64.27	\$0.00	
	0040	0590	9031280					0.00	12	LF	0.00	\$11.91	\$0.00	
	0040	0600	9031281		0040 0600 9031281			0.00	3	LF	0.00	\$73.41	\$0.00	



Contract ID			Estimate Number		Pay Period Start	Pay Period End				Created D	ate	Estimate Type	
190215-G06		0003	3		September 16, 2019	September 30		Octobe	er 1, 2019		Progress		
<u>Total Pai</u>	id / All Ite	ems / Al	I Estimate	S									
Project No.	Category	Line No.	ltem Code		Description		Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date	
J7S3164	0040	0610	9035069A				0.00	12	SQFT	0.00	\$20.57	\$0.00	

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	Line No.	Item Code	Description	Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile
J7S3164	0020	2071000	LINEAR GRADING CLASS 1	Joplin, Rangeline. Southern alleyway/ entrance at Cavender's.	9/23/19	edelhb1	0.21	STA		
				Joplin, Rangeline. Subway entrance north of 4th st.	9/27/19	edelhb1	0.20	STA		
				Joplin, Rangeline. South of Forest Park Church to Thai Noodle Restaurant southern entrance.	9/30/19	edelhb1	0.73	STA		
				Webb City, Madison Ave. 10th st to 13th st.		edelhb1	0.97	STA		
	0030	2079903	MISC.	Webb City, Madison Ave. South of 11th st.	9/18/19	edelhb1	167.00	LF		
				Joplin, Rangeline. West side, south of 4th st.	9/19/19	edelhb1	248.00	LF		
				Joplin,	9/23/19	edelhb1	33.00	LF		



			Ectimate Number	Day Davied Ofer			Day De	riad Era	4		Prosted Data	Ectimate Turne
	tract ID		Estimate Number	Pay Period Star	ι		-	eriod End	a a a a a a a a a a a a a a a a a a a		Created Date	Estimate Type
190215-G	06	00	003	September 16, 2019	nber 16, 2019			019		October 1, 2019		Progress
Project	Line No.	Item Code	Description	Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile		
J7S3164	0030	2079903	MISC.	Rangeline. Southern alleyway/ entrance at Cavender's.								
					9/27/19	edelhb1	388.90	LF				
				Joplin, Rangeline. South of Forest Park Church to Thai Noodle Restaurant southern entrance.	9/30/19	edelhb1	126.20	LF				
				Webb City, Madison Ave. 10th st to 13th st.		edelhb1	832.20	LF				
	0040	3040143	TYPE 1 AGGREGATE FOR BAS IN. THICK)	SE (4 Joplin, Rangeline. West side south of 3rd st.	9/16/19	edelhb1	90.50	SQYD				
				Joplin, Rangeline. At empty building and Subway approaches.	9/18/19	edelhb1	40.40	SQYD				
				Joplin, Rangeline. West side, south of 4th st.	9/19/19	edelhb1	127.50	SQYD				
				Joplin, Rangeline. Southern alleyway/ entrance at Cavender's.	9/23/19	edelhb1	18.30	SQYD				
					9/27/19	edelhb1	215.20	SQYD				



Con	tract ID		Estimate Number		Pay Period Start	:		Pay Pe	riod End	k	(Created Date	Estimate Type
90215-G	06	00	003	Septer	eptember 16, 2019		Septemb	oer 30, 20)19		October 1, 2019		Progress
Project	Line No.	ltem Code	Description		Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile		
7S3164	0040	3040143	TYPE 1 AGGREGATE FOR B IN. THICK)	ASE (4	Joplin, Rangeline. South of Forest Park Church to Thai Noodle Restaurant southern entrance.	9/30/19	edelhb1	146.00	SQYD				
	0100	6081010	CONCRETE CURB RAMP		Joplin, Rangeline. At empty building and Subway approaches.	9/18/19	edelhb1	27.40	SQYD				
					Joplin, Rangeline. West side, south of 4th st.	9/19/19	edelhb1	16.40	SQYD				
					Joplin, Rangeline. Southern alleyway/ entrance at Cavender's.	9/20/19	edelhb1	8.30	SQYD				
					Joplin, Rangeline. North and south of 7th st. Forest Park Church.	9/27/19	edelhb1	37.00	SQYD				
					Joplin, Rangeline. South of Forest Park Church to Thai Noodle Restaurant southern entrance.	9/30/19	edelhb1	6.90	SQYD				
	0110	6081012	TRUNCATED DOMES		Joplin, Rangeline. South curb ramp at at	9/19/19	edelhb1	20.00	SQFT				



Con	tract ID		Estimate Number	Pay Period Star	t		Pay Pe	riod End	k	(Created Date	Estimate Type
190215-G			003	September 16, 2019		Septem	per 30, 20			October		Progress
Project	Line No.	Item Code	Description	Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile		
J7S3164	0110	6081012	TRUNCATED DOMES	first western business entrance south of 4th st.								
				Joplin, Rangeline. Southern end of cemetery to north corner of 7th st.		edelhb1	91.00	SQFT				
	0130 6085	6085008	PAVED APPROACH, 8 IN.	Joplin, Rangeline. West side south of 3rd st.	9/16/19	edelhb1	90.50	SQYD				
				Joplin, Rangeline. First entrance south of 4th st. West side.	9/20/19	edelhb1	44.30	SQYD				
				Joplin, Rangeline. Subway entrance north of 4th st.	9/27/19	edelhb1	33.40	SQYD				
				Joplin, Rangeline. South of Forest Park Church to Thai Noodle Restaurant southern entrance.	9/30/19	edelhb1	75.90	SQYD				
	0140	6086004	CONCRETE SIDEWALK, 4 IN	l. Webb City, Madison Ave. South of 11th st	9/18/19	edelhb1	13.00	SQYD				
				Joplin, Rangeline. West side, south of 4th st.	9/19/19	edelhb1	111.10	SQYD				
				Joplin, Rangeline.	9/20/19	edelhb1	10.00	SQYD				



Con	Contract ID Estimate Number		Estimate Number	Pay Period Star	t		Pay Pe	riod End	ł	(Created Date	Estimate Type
190215-G	606		0003	September 16, 2019		Septem	ber 30, 20	019		October	1, 2019	Progress
Project	Line No.	ltem Code	Description	Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile		
J7S3164	0140	6086004	4 CONCRETE SIDEWALK, 4 IN.	Southern alleyway/ entrance at Cavender's.								
				Joplin, Rangeline. Subway entrance north of 4th st to entrance to Forest Park Church south of 7th st.	9/27/19	edelhb1	155.50	SQYD				
				Joplin, Rangeline. South of Forest Park Church to Thai Noodle Restaurant southern entrance.	9/30/19	edelhb1	63.20	SQYD				
	0200	616100	5 CONSTRUCTION SIGNS		9/30/19	edelhb1	22.00	SQFT				
	0210	6161008	8 ADVANCED WARNING RAIL SYSTEM		9/30/19	edelhb1	2.00	EA				
	0220	6161009	9 FLAG ASSEMBLY		9/30/19	edelhb1	16.00	EA				
	0240	6161030	0 TYPE III MOVEABLE BARRICA	DE	9/30/19	edelhb1	6.00	EA				
	0260	6161040	0 FLASHING ARROW PANEL		9/30/19	edelhb1	2.00	EA				
	0280	6169902	2 MISC.		9/30/19	edelhb1	23.00	EA				
	0290	618100	0 MOBILIZATION		9/30/19	edelhb1	0.25	LS				